EASILOK®

1.Preparation

(1) The following parts are included in the package:

1. 2.
° o] o
000 or| [
A S
fldf .. ( I«
o I -
= Nt (] 2
6 7 0 8 1.Template for Hole Drilling*1
2.Tailpiece*1
\\\\\\\\\ 3.Mortise*1
4.0ut keypad*1
5.Interior knob*1
[ . i .
9 10. " 6.Interior Knob mounting plate*1

A

(2) Confirm the mortise and door & frame

7.Faceplate*1
8.M5*12 Screw*2
9.M4*10 Screw*2
10.M5*30 Screws*2
11.M4*6 Screw*2

1Fs

LOCK &
STILE

ba

B

Entraxe d

ve rr@

Distance from the center of
the circle to the door
ckset

1.1/8" (29mm)
65/66"(25mm)
1.1/2"(38mm)

2Changing the code number

Step 1 : Use a screwdriver to remove
the 4 retaining screws from the back of | s«
the out keypad. Carefully lift off the
metal cover.

:ggmémgga

Step 1

163 e
265 29

11 chang password 1Q C
% of
> ® | © o
0 07
o %
50 ©s

> ®
Remove the‘ﬁ'
retaining screws

363 2
4G5 @@ |
553 e

MOEDL : SK11 SK70

Always place the lock flat on a surface when
removing the screws of the out keypad. This
prevents internal parts from falling out or

shifting.NEVER remove the clear “C” tumbler.

is essential for the lock to function properly.

Step 2 : Identify the Internal Components
Once the plate is removed, you will see:
(1) 3 Red Tumblers: Represent buttons that
will be part of your code.
(2) 6 Blue Tumblers: Represent buttons that
will not be part of your code.
(3) IMPORTANT : 1 Clear Tumbler ("C" Button):
This is the reset button. Do not remove it.

Step 3 : Press and hold the “C” button
throughout the process. This ensures safe
removal and insertion of the tumblers.

Step 4 : Remove and Replace Tumblers
(Use Tweezers)

(2 to 4 Red buttons as new code)

NOTE : With the spare tumblers you can either
increase the number of digits in the code to 4 or
decrease to 2. Red and Blue tumblers have
different shapes and must be inserted in the
correct orientation. Be sure they fit snugly and
correctly into their slots.

Step 5 : Record your new code.
Reattach the back plate with the 4 screws.
Test the new code before reinstallation.

Mechnical Keypad Storefront Door Lock

@ @)

“C” tumbler

D Place the
lock flat on a

surface

S &
56 S

3*Red Tumblers + 1*spare Red Tumblers

Press and hold
the “C” button

== | The small raised
= dot on the code

tumblers should
align with the
4 7|7 groove on the
o &7 :ﬂ;‘*i—e out pad

=

Setp 4)

3.Installation

(1) The bolt must be
retracted. If not, insert the
out keypad into the
mortise, enter code and
turn the knob to retract
the bolt.

(2) Take off the faceplate from the
mortise by loosening the screws.

(3) Check if your door opens to the left or
right.
For left-handed doors, use the tailpiece
marked "L"

B LEFT-HANDED

My a1

7 INsiDE R

RIGHT-HANDED il

For right-handed doors, use the

tailpiece marked "R".

(4) How to switch the tailpiece:
a. Remove the two screws from the top
and bottom of the tailpiece cover.
b. Choose the correct tailpiece ("L" or "R").
c. Insert the tailpiece into the slot and

Remove the two screws

TIIIT

secure it with screws.

> [Insert the
-, || tailpiece with
%> s the letter “L” or
"« @ “R”facing up.

(5) Insert the mortise into the door hole,
tighten the M5*12 screws. Then
enter the default code.

If the bolt does not retract, the lock
is not compatible with the current .
door orientation. \

SKI1 change talplece

Tighten the g
. . L screws '
In this case, the tailpiece inside the

outdoor knob must be replaced
accordingly, as explained in step (4).

A e

the bolt] |
can't ext

(6) Enter the code and turn the out
keypad to lock or unlock — the bolt
will extend or retract accordingly.

(7) Insert the interior knob mounting plate ! i 1 B
into the hole of the mortise, make sure fg%bv N % g
the mark “DOWN?” is facing downward. 7) j @) ﬁ

(8) Insert the interior knob and tighten the
M4*10 screws. The interior knob
should turn smoothly to lock and
unlock the door.

| /]3
o~

L=y
==

(9) Install the faceplate with M4*6 screws.
Then install the strike plate on the
other door side .The whole installation
is finished.

50

For replacement parts & troubleshooting, call customer service on +1 (626)
735-6816 between 14:00 p.m. and 3:00 a.m. EST, Monday—Friday or write to
support@easilok.com. For after-sales service, please scan:

=] ”

www.easilok.com
Limited Lifetime Warranty

The Manufacturer extends a Limited Lifetime Mechanical and Finish Warranty to the
original “User” of this Product against defects in materials and workmanship for as
long as the User occupies the residential premises upon which the Product was
originally installed. Upon return of a defective Product to the Manufacturer, the
Manufacturer shall either replace, repair, or refund the purchase price in exchange
for the Product.

This warranty does not cover abused or misused Products or those Products used
in commercial applications. No other warranties, express or implied, are made with
respect to the Product, including but not limited to any implied warranty of
merchantability or fitness for a particular purpose.

The Manufacturer DOES NOT authorize any person to create for it any obligation or
liability in connection with the Product. The Manufacturer’s maximum liability here is
limited to the purchase price of the Product, and in no event shall the company be
liable for any consequential, indirect, incidental, or special damages of any nature
arising from the sale or use of this Product, whether in contract, tort, strict liability or
otherwise. (For warranty service, please call 8:00 a.m.—8:00 p.m. EST, Monday
through Friday.)

Note: Should the Product be considered a consumer product, it may be covered by
the Magnuson-Moss Federal Warranty Act. Please be advised that (1) some states
do not allow limitations or incidental consequential damages or limitations on how
long an implied warranty lasts, so the above limitations may not fully apply, and (2)
this warranty gives specific legal rights, and Users may have other rights, which
may vary from state to state.



EASILOK ® MODELE : SK11 SK70

1. Préparation

(1) Les pieces suivantes sont incluses
dans I'emballage :

4 Vidéo d'installation
) du SK11

1.Gabarit de pergage des trous x1
2.Tige de verrouillage x1

3.Boitier de serrure (mortaise) x1
4.Clavier extérieur x1

5.Bouton intérieur x1

6.Plaque de fixation du bouton intérieur x1
7.Plaque de recouvrement x1
8.Vis M5*12 x2

9.Vis M4*10 x2

10.Vis M5*30 x2

11.Vis M4*6 x2

(2) Vérifiez la compatibilité entre la serrure (mortaise),

la porte et le cadre.

N
N
DY

S
S )

025 0413

b
h=t
AN
I ((:7}_
45
ul

BACKSET

0.04

0.039 1

veer

EASILOK,

LOCK &

STILE STILE PREPARATION

<=

1.1/8" (29mm)
65/66"(25mm)
1.1/2"(38mm)

i[=]
:[=]

2.Changement du code

Etape 1 : Utilisez un tournevis pour
retirer les 4 vis de fixation situées a
I'arriere du clavier extérieur. Retirez
délicatement le couvercle métallique.

Changement de
mot de passe [,
—SKM1

163 &
265 29
(@ 363 20

& 5
20 0%
> ®|C
‘o
8¢ Y%
50 ©s

463 @[
, o “Retirez les 4 vis de
Etape 1 fixation :

Serrure de porte pour vitrine avec clavier mécanique 3

Posez toujours la serrure a plat pendant cette
opération, afin d’éviter que des pieces internes
ne tombent ou se déplacent.

Ne retirez jamais la paillette transparente « C »,
elle est essentielle au bon fonctionnement de la
serrure.

Etape 2 : Identifiez les composants
internes :

@ @)

Tumbler en 'C'

-4 Placez le
preps verrou a plat
oAl sur une

(1) 3 paillettes rouges : elles correspondent
aux boutons de votre code.

(2) 6 paillettes bleues : elles ne font pas partie
du code.

(3) 1 paillette transparente (« bouton C ») :
bouton de réinitialisation — a ne pas

Etape 3 : Appuyez et maintenez le bouton
« C » pendant toute la procédure. Cela

3*Paillettes rouges +
1*Paillettes rouges de rechange

. paillettes rouges

b3 b 3 b b
w e e

(Etape 2)

Cd?
paillettes bleues

garantit un retrait et un placement sirs
des paillettes.

Etape 4 : Retirez et remplacez les paillettes
(a 'aide d’une pince).

(2 a 4 paillettes rouges pour un nouveau code)

Remarque : Les paillettes de rechange permet-

tent d’augmenter le nombre de chiffres du code a

4, ou de le réduire a 2. Les paillettes rouges et
bleues ont des formes différentes et doivent étre
insérées dans la bonne orientation. Vérifiez
gu’elles sont bien ajustées dans leurs emplace-
ments.

Etape 5 : Notez votre nouveau code. Revissez le
couvercle arriére avec les 4 vis. Testez le
nouveau code avant la réinstallation.

@ @

N
dep
&/
=S Appuyez et
maintenez
enfoncé le
bouton 'C'

X
= &

Le petit point
suréleve sur les
sem @m0 | Qobelets de code
~ doit étre aligné
s Cia .
) r\[r;—i—;?avec la rainure
= /1 sur le coussinet
=] extérieur.

568

3.Installation

(1)Le péne doit étre rétracté.
Si ce n’est pas le cas,
insérez le clavier extérieur
dans la mortaise, entrez le
code et tournez le bouton
pour rétracter le péne.

(2) Retirez la plaque de recouvrement
de la mortaise en dévissant les vis.

(3) Veérifiez si votre porte s’ouvre vers la
gauche ou vers la droite : 3
---Pour les portes s’ouvrant a gauche, I__r|
utilisez la tige marquée « L ».
---Pour les portes s’ouvrant a droite, (

7\ intérieur IV

gauche a droite

]
Al

v extérieur "

utilisez la tige marquée « R ».

(4) Pour changer la tige :
a. Dévissez les deux vis en haut et en
bas du couvercle de la tige.
b. Choisissez la tige correcte (« L » ou
«R»).
c. Insérez-la dans la fente et fixez-la

Retirez les deux vis
s

LTI
TITTT

avec les vis.

(5) Insérez la mortaise dans le trou
de la porte, puis vissez les vis

Rem;;lace:r la tige
arriere du SK11

M5*12. Entrez le code par défaut. ¢ 2%/ Insérez le loquet avec la
2 )| lettre 'L' ou 'R’ orientée
(4) \_@ @ vers le haut.

Si le péne ne se rétracte pas, la

serrure n’est pas compatible avec
le sens d’ouverture de la porte.
Dans ce cas, remplacez la tige a
l'intérieur du bouton extérieur en
suivant I'étape (4).

(6) Entrez le code et tournez le clavier

extérieur pour verrouiller ou
déverrouiller — le péne se déploiera
ou se rétractera en conséquence.

(7) Insérez la plaque de fixation du bouton
intérieur dans le trou de la mortaise.
Veérifiez que le repere « DOWN » est
orienté vers le bas, puis vissez les vis

.-

M5*30.

(8) Insérez le bouton intérieur et serrez les
vis M4*10. Tourner le bouton intérieur
doit faire fonctionner le péne en
douceur pour verrouiller ou
déverrouiller la porte.

| /]3
o~

oo
I=r=1
8D
7DD‘
| Dy
gﬁ/
(9) Installez la plaque de recouvrement
avec les vis M4*6. Puis, fixez la gache

sur l'autre coté de la porte.

Pour les piéces de rechange et le dépannage, veuillez appeler le service client au
+1 (626) 735-6816 entre 14h00 et 3h00 (heure de I'Est), du lundi au vendredi, ou
écrire a support@easilok.com.

Pour le service aprés-vente, veuillez scanner :

Garantie limitée a vie www.easilok.com
Le fabricant offre une garantie mécanique et de finition limitée a vie a I'« utilisateur »
d’origine de ce produit contre tout défaut de matériau et de fabrication, tant que
I'utilisateur occupe les lieux résidentiels ou le produit a été initialement installé. En
cas de retour d’un produit défectueux au fabricant, celui-ci pourra, a sa discrétion,
remplacer, réparer ou rembourser le prix d’achat en échange du produit.

Cette garantie ne couvre pas les produits mal utilisés ou ayant subi des abus, ni
ceux utilisés dans des applications commerciales. Aucune autre garantie, expresse
ou implicite, n’est offerte pour ce produit, y compris, sans s’y limiter, toute garantie
implicite de qualité marchande ou d’adéquation a un usage particulier.

Le fabricant n’autorise aucune personne a engager en son nom une quelconque
obligation ou responsabilité liée a ce produit. La responsabilité maximale du
fabricant se limite au prix d’achat du produit, et en aucun cas la société ne pourra
étre tenue responsable des dommages consécutifs, indirects, accessoires ou
spéciaux, de quelque nature que ce soit, résultant de la vente ou de I'utilisation de
ce produit, que ce soit en vertu d’un contrat, d’'un délit, d’'une responsabilité stricte
ou autre.

(Pour le service de garantie, veuillez appeler de 8h00 a 20h00, heure de I'Est, du
lundi au vendredi.)

Remarque : Si le produit est considéré comme un produit de consommation, il peut
étre couvert par le Magnuson-Moss Federal Warranty Act. Veuillez noter que :

(1) certains Etats n’autorisent pas les limitations concernant les dommages
accessoires ou consécutifs, ni la durée des garanties implicites, si bien que les
limitations ci-dessus peuvent ne pas s'appliquer entierement ;

(2) cette garantie confére des droits Iégaux spécifiques, et I'utilisateur peut
bénéficier d’autres droits, qui peuvent varier d’un Etat a 'autre.




 
 
    
   HistoryItem_V1
   TrimAndShift
        
     范围:所有页面
     裁切:增加 下 边 4.25 点
     爬移:无
     裁切与爬移 (高级选项):“旧版”
     保持出血: 无
      

        
     D:20250418152738
      

        
     Shift
     32
     1
     0
     No
     667
     591
     None
     Up
     0.0000
     0.0000
            
                
         Both
         3
         AllDoc
         96
              

       CurrentAVDoc
          

     Bigger
     4.2520
     Bottom
      

        
     QITE_QuiteImposingPlus5
     Quite Imposing Plus 5.0
     Quite Imposing Plus 5
     1
      

        
     1
     2
     1
     2
      

   1
  

    
   HistoryItem_V1
   TrimAndShift
        
     范围:所有页面
     裁切:增加 上 边 2.83 点
     爬移:无
     裁切与爬移 (高级选项):“旧版”
     保持出血: 无
      

        
     D:20250418152744
      

        
     Shift
     32
     1
     0
     No
     667
     591
     None
     Up
     0.0000
     0.0000
            
                
         Both
         3
         AllDoc
         96
              

       CurrentAVDoc
          

     Bigger
     2.8346
     Top
      

        
     QITE_QuiteImposingPlus5
     Quite Imposing Plus 5.0
     Quite Imposing Plus 5
     1
      

        
     1
     2
     1
     2
      

   1
  

    
   HistoryItem_V1
   TrimAndShift
        
     范围:所有页面
     裁切:增加 全部 边 8.50 点
     爬移:无
     裁切与爬移 (高级选项):“旧版”
     保持出血: 无
      

        
     D:20250418152750
      

        
     Shift
     32
     1
     0
     No
     667
     591
     None
     Up
     0.0000
     0.0000
            
                
         Both
         3
         AllDoc
         96
              

       CurrentAVDoc
          

     Bigger
     8.5039
     All
      

        
     QITE_QuiteImposingPlus5
     Quite Imposing Plus 5.0
     Quite Imposing Plus 5
     1
      

        
     1
     2
     1
     2
      

   1
  

    
   HistoryItem_V1
   PageSizes
        
     范围:所有页面
     尺寸: 11.378 x 8.425 英寸 / 289.0 x 214.0 毫米
     动作: 统一所有页面大小
     Scale: 单独缩放宽度和高度
     旋转: 逆时针旋转 (如必要)
      

        
     D:20250418152756
      

        
     0
            
       D:20250418150519
       606.6142
       Blank
       819.2126
          

     Wide
     1
     0
     777
     296
     qi4alphabase[QI 4.0/QHI 4.0 alpha]
     None
     Separate
     1.0030
            
                
         1
         AllDoc
         1
              

       CurrentAVDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus5
     Quite Imposing Plus 5.0
     Quite Imposing Plus 5
     1
      

        
     1
     2
     1
     2
      

   1
  

    
   HistoryItem_V1
   DefineBleed
        
     范围:所有页面
     要求:出血左 5.67, 右 5.67, 上 5.67, 下 5.67 点
     向外出血（出血在成品区域之外）: 无
      

        
     D:20250418152807
      

        
     5.6693
     1
     5.6693
     0.0000
     0
     0
     1404
     488
    
     5.6693
     Margin
            
                
         Both
         AllDoc
              

       CurrentAVDoc
          

     5.6693
      

        
     QITE_QuiteImposingPlus5
     Quite Imposing Plus 5.0
     Quite Imposing Plus 5
     1
      

        
     0
     2
     1
     2
      

   1
  

 HistoryList_V1
 qi2base



